




































1 mm-r-in\ J (x-x0)?+  ( y - y  j2
0

StYa~ntihuwo

’ J

---___

ttm (x‘xo)2-+ (y-y,)2 >  0
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iihh  9.3.1 wn7 lim 3x-y

(X,Y)41,3)  2&y3

lim 3x-y = lim 3x-y

(x,y)-+(1,3)  27x3-Y3 (X,Y)-+(1,3)(3 x-y)(  9x2+3xy+y2)

= lim 1

(X,Y)-+(1,3)  9x2+3xy+y2

: 1 =l mu
9t9t9 77

-

m”milJ 9.3.2 n"7nunJG f(x, y) =

s-t+

BdQGl lim f(x,y)  Wil'lu'lci  (not exist)

(x,y)+  (O,O)

lim f(x, y) = lim f(x, 0) = lim 0 =o
(x,yb (O,O)* x-to x40

(P fUSL)
x2+0

7;  s2 t~t~R~a\~PmJiVn~~luu~a;ms\r  y = x L&J

lim f(x, y)  = lim f(x, x)  = lim x,2  = lim 1=1
(x,y)-t(O,O) x+0 x-0

x2tx2
x-+0 2 2

(P7US2)

LW47’17 lim f(x, y)  # lim f(x, y)
'p;,"' (X,Y)-+(O.O~ .

u 1 (P'lu  S2)
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u. 25 rlhjE1;\&&laU  1 Aa 1x25  = 1
100 T

f’ (xXk lSX2 , . .,q= 1i.m  f(xl,x2a -~k-~,\+A\,\+~s-  +J
Axpo

f)X,Y ,z) = l i m  f(x+Ax,y,e)  - f(x,y,z) (9.4.5)
Ax-0 A x

/
fy(X.Y.Z)  = lim f(x,y+Ay,z)  - f(x,y,z) (9.4.6)

Ayeo AY

f;(x,y,z,) = lim f(x,J,z+42) - f(x,y,d (9.4.7)
n z+o AZ
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3.5 0; f(x,y) = exy wn7 fb f"' LLPZ f '0
xxy ' XYX YXX

4. nin?nun~HI

z(r, t) = er / t
+ ln(t>

WLba?dG,dU;l
1:

t Z/t(r,  t) + r z;(r,  t)  - 0

5.1 z = f(x,y) = x2-y2

5.2 z = E(x,y)  = ln(x2+y')
1

5.3 z = f(x,y'  = ln(x2+y2)?

z
5.4 z - f(x,y) = ext x

X2+y2

6. ninum?r;i

f(x,y,z)  =
2 2 2xy+yz+zx

iluwlu1tTr?%47~1

f&,y,zI  t fi(x,y,zj+f;(x,y,z)-(x+y*z!2  = 0
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